Answers Tuesday 28th April
Grammar – Adverbials
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Year 5 Maths Kilograms and Kilometres

[image: ]
[image: ]







Year 6 Maths Area of a Parallelogram
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Expected

5a. Various possible answers, for example:
‘As the plane hurtied through the thick
cloud...’

6a. 'so smoothly’

7a. over the British Channel

8a. Various possible answers, for example:
*...as the madness of battle swirled around
him.’

Expected

5b. ‘In the centre of the stage,..."

6b. "...as he glimpsed a face from the past
in the front row.”

7b. In the very centre of the front row

8b. Various possible answers, for example:
‘All these years later,..."
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Expected

5a.700m = 7.0km corrected o 700m =
0.7km or 7,000m = 7.0km.

2.7kg = 27,0009 corrected to 2.7kg =
2,700g or 27kg = 27,000g.

6a.True, True, False, False.

7a. 3.5kg < 5,500g, 31,000g > 27kg,
9.8km > 9,700m, 4,200m = 4.2km.

8a. 700g.

Expected

5b. 4,900m = 49km corrected to 4,900m =
4.9km or 49,000 = 49km.

20,200m = 2.0km corrected to 20,200m =
20.2km or 2,000m = 2.0km

6b. True, False, True, False.

7b. 3.4kg > 3,300g, 9.9kg = 9,900g,

800m > 0.6km, 6.7km < 7,600m

8b. 5,300m.
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Expected

4a. First row: 1.6km
Second row: 4.3km
Third row: 0.2km

5a. Various possible answers, for example:

3,300m > 2,800m, 2,800m > 2.5km,
25km < 3,300m

6. Nadiais correct. 1,500g is equivalent
fo 1.5kg. 1kg costs £2.60 s0 0.5kg would
cost £1.30. £2.60 + £1.30 = £3.90.

Expected
4b.First row: 0.5kg

Second row: 2.5kg

Third row: 2.3kg
5b. Various possible answers, for example:
3.9kg > 3.3kg, 3.3kg < 3,500g,
3,500 < 3.9kg.
6b. Ewan is not correct.
3x 500g = 1,500g, which is equivalent fo
1.5kg. 1.5 x £2.80 = £4.20.
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Expected Expected

5a.Aand C 5b.A,Band C
6a.C 6b. B
7a. 12cm x 3.5cm = 42cm? 7b. 8cm x 4.5cm = 36cm?

8a. 38.5cm? < 48cm? 8b. 20cm? > 13.5cm?
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Expected

4a. No; the area of the parallelogram is
12cm x 5.5¢m = 66cm?, so half the area of
the parallelogram is 66cm?+ 2 = 33cm?, not
s0cm?.

5a. 400 paving stones; the area of each
stone is 150cm2 (15cm x 10cm) and the
area of the garden he wants to cover is
60,000cm? (400cm x 150cm). 60,000cm?2 =
150cm? = 400.

6. No; 60cm?2 + 24cm = 2.5cm, not 2cm.

Expected

4b. No; the area of the parallelogram is
16cm x 0.45cm = 72, so haf the area of
the parallelogram is 72cnv? + 2 = 36cm?, not
36mm2.

5b. 250 tiles; the area of each tile is 500cm?
(25cm x 20cm) and the area of the
bathroom he wants to file is 125,000cm?
(500cm x 250cm). 125,000cn? + 500cm2 =
250.

6b. No; 55cm2 + 10cm = 5.5¢m, not 5cm.




